Vector Notes

Example 1. Add the two vectors. Find the direction and magnitude.
'| oy = |(? [0 aVAN 1
a. :
50 m/fs
125ﬂ

X

O

c's'm"(

.
Ix 2[$07 450" - 2(e0)(s0)Co

L Wl
535

Sin35 _ Sin®
| U4

/ I
0-\_‘50”‘

%0

4%.q4
©=21.2\°
—550

b.31°

:*t :ﬁ—‘ii‘.‘f‘i rf\lesj

§0 osm§53>

] W ik.31°8

50m
135°
b L'\l% ha \\\
[ = [(OM

A P 7. . ~ -~
X =907+ 20™ - 2 (56Y( )N

Example 2) A boat is traveling across a river as shown below,
Find the actual velocity (velocity relative to the shore) of the
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3. Find the resultant magnitude & direction for the following headings.

Heading of E 40° N for 10 miles then W 25° S for 5 miles. ) | | e § = | cm
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BOATING Raphael sails his boat due east at a rate of 10 knots, If there is a
current of 3 knots moving 30° south of east, what is the resultant speed and

direction of the boat? 1o = | knst
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5. An jetis traveling at a speed of 350 miles per hour going east. A wind of 75 miles per hour is coming from the south
west. What is the resultant speed of the jet? What is the heading the jet is going? Dake a drawing and estimate the

solution and justify using mathematics. Use the scale 1 cm = 25mph.
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